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	Information for Candidate:

1. This examination paper contains (6) questions totaling (50) marks.

2. The marks for parts of questions are shown in round brackets.

	Advices to Candidate:

	1. Answer all questions.
	2. Write your answers clearly.
	3. Answer questions in order.


Question 1: Choose the right answer: 
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1. When constructer is called?

a) When passing object to function.

b) When return object from function.

c) When delete an object.

d) When create an object.

2. When destructor is called?

a) When passing object to function.

b) When return object from function.

c) When create an object.

d) When delete an object.

3. The encapsulation idea is:

a) Create an object and use it form main.

b) Using copy constructer.

c) Keeping code and data safe from outside class.

d) Using friend functoin to access a private member in a class.

4. The polymorphism idea is:

a) We can make consructer overloading.

b) We can return an object from a function.

c) We can write the same sentence in main but we run different functions.

d) Non of the above.

5. The Inheritance idea is:

a) An object can take the properates of another one.

b) Copying value of one object to another.

c) Prevent user from rewrite some members.

d) Non of the above.

6. Which of the following ways can not use to call constructer?

a) Test a = Test ( 7 );

b) Test Test( );

c) Test a (7);

d) Test a;

7. When we create an array of objects whom size is [3][4]. How many times will we call constructor?

a) 3.

b) 4.

c) 12.

d) 7.

8. We use a friend function to:

a) Add new function to a class.

b) Access to public members.

c) To receive an object form main.

d) Access to private numbers.

9. We will not call copy constructor:

a) When passing object to functions.

b) When ruturning objects from function.

c) When one object explicitly initializes another.

d) Non of the above.

10. Which of the following operators we can not be overloaded by using nonmember function?

a) =





c) ( )

b) [ ]





d) Non of above

11. If a member is public in base class, and access is protected, the member will be …………...  in drived class?

a) Public

b) Private

c) Protected

d) Non of above 

12. If a member is private in base class, and access is protected, the member will be in drived class?

a) Public

b) Private

c) Protected

d) Non of above

13. Which of the following access type can we access from main?

a) Public

b) Private

c) Protected

d) Main

14. Which of following is attribute of Abstract Classes:

a) It has a Pure virtual function.

b) We can use it to create a pointer but not an object.

c) We can use as a base class.

d) All of the above. 

15. Which of the following is not true?

a) We can use a Base pointer to point into a Drived object.

b) We can use a Drived pointer to point into a Base object.

c) We can use a Base pointer to point into a Base object.

d) We can use a Drived pointer to point into a Drived object.

16.  (Has a) relationship is:

a) A relationship between base class and derived class which is inherited from it.

b) A relationship between class and object which create from it.

c) A relationship between class and another which includes object from the class as data member.

d)  A relationship between class and main which include object from the class.

17. (Is a) relationship is:

a) A relationship between base class and derived class which is inherited from it.

b) A relationship between class and object which create from it.

c) A relationship between class and another which includes object from the class as data member.

 A relationship between class and main which include object from the class.

Question 3: What are the outputs of the following program? 


(Mark: 5)

Question 4: 









(Mark: 3)
Write a Generic function to compute the absaluot value?


Question 5: 









(Mark: 10)
Define an Abstract class (Summation) which has a pure virtual function ( sum ); Define two derived classes (comp1, comp2) which are inherited from Summation class. The first class compute the summation of two marks and the second one compute the summation of three marks. Write a full program? 


Question 6: 









(Mark: 15)

Look carefully to the following program then answer the questions?

class Hospital

{  protected:

     int    P_number;

    char *P_name;

     }

class test 

{ Hospital array[100];  

   int count; }

a. Add search function to find a person by using his number;

b. Add delete function to delete a person by using his number;

c. Add insert function to add new person;

d. Add modfy function to modfy information of a person.

e. Add print function to print information of a person.


Good Luck



















  p=&base_obj;


  p->who();





  p=&first_obj;


  p_first=&first_obj;


  p->who();


  first_obj.who();


  p_first->who();





  p=&second_obj;


  p_second=&second_obj;


  p->who();


  second_obj.who();


  p_second->who();


}























class base {


public:  virtual void who() {


		cout<<“Base\n”;	


	}


};


class first_d :public base {


public: 	void who() {


		cout<<“First\n”;


	}


};


class second_d :public first_d {





};


main()


{


  base base_obj, *p;


  first_d first_obj, *p_first;


  second_d second_obj, *p_second;








Answers:
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